APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	LEANNE HANNAN		Page 1 of	10
Project: COTTAG	GE GROVE ROAD RESURFACING AS	SSESSMENT DISTRICT - 2016		
Contract Number:	7625	Payı	ment Number:	3
DO NOT WRIT	E IN THIS BOX - TO BE COM	PLETED BY CITY ENGINEERING	PERSONNEL ONLY	<i>'</i>
TOTAL FROM PAGE	:10	774,19	79.84	
LESS RETAINAGE:		38,7	10.02	
SUBTOTAL:		735,48		
LESS PREVIOUS PA	YMENTS:	369	,310.76	
CURRENT PAYMEN	T ĐUE:	# 366,1	79.06	
ONTR INSPECTOR'S CERT The und by this a and that INSPEC	TIME PERIOD FOR THIS PAYMENT CONTRACTOR/SUBCONTRACTOR The current payment has been control to the current payment is now due. SPEEDWAY SAND & CONTRACTOR TOR CONTRACTOR/SUBCONTRACTOR	GRAVEL, INC. the best of his/her knowledge, ompleted in accordance with the nt for the amount certified. TREQUEST: FR	the work covered e contract docume $ \frac{7-6-1}{DATE} $ OM: LAST = 6 TO: $7-6-16$	(0)
0			micks	
	PAYMENT REQUEST SHALL BE SUB PAYMENTS CAN BE PROCESSED E		SPECTOR.	

PAYMEN	ACT NO. 7625 NT NO. 3	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	ACCOUNT NO. 11099-402-170												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$6,725.00	\$6,725.00		0.00	\$0.00	0.50	\$3,362.50	0.50	\$3,362.50	50.0%
10720	TRAFFIC CONTROL SIGN - PORTABLE ARROW BOARD	552.00	DAYS	\$10.00	\$5,520.00		120.00	\$1,200.00	46.00	\$460.00	166.00	\$1,660.00	30.1%
10721	TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE MESSAGE	14.00	DAYS	\$125.00	\$1,750.00		0.00	\$0.00	14.00	\$1,750.00	14.00	\$1,750.00	100.0%
10750	RESET MONUMENT	2.00	EACH	\$800.00	\$1,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	1,766.00	S.Y.	\$2.55	\$4,503.30		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20321	REMOVE CONCRETE PAVEMENT	102.00	S.Y.	\$6.00	\$612.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20322	REMOVE CONCRETE CURB & GUTTER	3,421.00	L.F.	\$3.00	\$10,263.00		0.00	\$0.00	200.00	\$600.00	200.00	\$600.00	5.8%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	5,972.00	S.F.	\$1.10	\$6,569.20		200.00	\$220.00	0.00	\$0.00	200.00	\$220.00	3.3%
20501	ADJUST SEWER ACCESS STRUCTURE	11.00	EACH	\$295.00	\$3,245.00		2.00	\$590.00	0.00	\$0.00	2.00	\$590.00	18.2%
20701	TERRACE SEEDING	1,766.00	S.Y.	\$2.15	\$3,796.90		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21063	EROSION MATTING, CLASS 1, TYPE-A ORGANIC	1,766.00	S.Y.	\$1.45	\$2,560.70		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30201	TYPE "A" CONCRETE CURB & GUTTER	3,421.00	L.F.	\$19.80	\$67,735.80		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30209	SPECIAL WATERWAY	918.00	S.F.	\$8.50	\$7,803.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5 INCH CONCRETE SIDEWALK	3,668.00	S.F.	\$4.46	\$16,359.28		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	1,992.00	S.F.	\$5.25	\$10,458.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30311	CONCRETE MOUNTABLE MEDIAN ISLAND NOSE	83.00	SF	\$7.00	\$581.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELDS	32.00	S.F.	\$25.00	\$800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40101	CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 1	292.00	TON	\$15.00	\$4,380.00		39.85	\$597.75	0.00	\$0.00	39.85	\$597.75	13.6%
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 2	80.00	TON	\$15.00	\$1,200.00		20.90	\$313.50	120.00	\$1,800.00	140.90	\$2,113.50	176.1%
40202	HMA PAVEMENT, TYPE E-1	145.00	TON	\$54.50	\$7,902.50		0.00	\$0.00	191.92	\$10,459.64	191.92	\$10,459.64	132.4%
40203	HMA PAVEMENT, TYPE E-3	9,180.00	TON	\$46.30	\$425,034.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40301	FULL WIDTH GRINDING	50,532.00	S.Y.	\$1.47	\$74,282.04		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

ΟΔ	Y	ИF	NT	N	 3 	1

PAYME	N1 NO. 3	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40332	BASE PATCH GRINDING, METHOD 2	150.00	S.Y.	\$14.00	\$2,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40333	BASE PATCH GRINDING, METHOD 3	900.00	S.Y.	\$18.10	\$16,290.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40335	BASE PATCH GRINDING, METHOD 5	450.00	S.Y.	\$26.60	\$11,970.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60802	PAVEMENT MARKING EPOXY, LINE, 6-INCH	22,290.00	L.F.	\$0.53	\$11,813.70		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	1,100.00	L.F.	\$1.00	\$1,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60809	PAVEMENT MARKING EPOXY, DIAGONAL LINE, 6-INCH	175.00	L.F.	\$6.20	\$1,085.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60814	PAVEMENT MARKING EPOXY, CROSSWALK, 12-INCH	3,150.00	L.F.	\$4.80	\$15,120.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	1,050.00	L.F.	\$6.00	\$6,300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	950.00	L.F.	\$6.20	\$5,890.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60822	PAVEMENT MARKING EPOXY, SYMBOL, BIKE SHARROW	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60823	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE	16.00	EACH	\$185.00	\$2,960.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60824	PAVEMENT MARKING EPOXY, SYMBOL, BIKE STRAIGHT ARROW	1.00	EACH	\$160.00	\$160.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60830	PAVEMENT MARKING EPOXY, SYMBOL, RIGHT ARROW	1.00	EACH	\$180.00	\$180.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60834	PAVEMENT MARKING EPOXY, WORD, ONLY	1.00	EACH	\$200.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60881	PAVEMENT MARKING REMOVAL, 6-INCH	7,175.00	L.F.	\$0.50	\$3,587.50		0.00	\$0.00	2,214.00	\$1,107.00	2,214.00	\$1,107.00	30.9%
60882	PAVEMENT MARKING REMOVAL, 8-INCH	200.00	L.F.	\$1.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60885	PAVEMENT MARKING REMOVAL, 24-INCH	100.00	L.F.	\$5.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60889	PAVEMENT MARKING REMOVAL, SYMBOL, BIKE LANE	5.00	EACH	\$50.00	\$250.00		0.00	\$0.00	9.00	\$450.00	9.00	\$450.00	180.0%
60891	PAVEMENT MARKING REMOVAL, SYMBOL, BIKE ARROW	5.00	EACH	\$50.00	\$250.00		9.00	\$450.00	0.00	\$0.00	9.00	\$450.00	180.0%
60900	TEMPORARY PAVEMENT MARKING PAINT, LINE, 4-INCH	500.00	L.F.	\$0.25	\$125.00		0.00	\$0.00	11,108.00	\$2,777.00	11,108.00	\$2,777.00	2221.6%
60901	TEMPORARY PAVEMENT MARKING PAINT, DOUBLE LINE, 4-INCH	10,000.00	L.F.	\$0.35	\$3,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60903	TEMPORARY PAVEMENT MARKING PAINT, LINE, 8-INCH	200.00	L.F.	\$0.50	\$100.00		0.00	\$0.00	869.00	\$434.50	869.00	\$434.50	434.5%

PAYME	NT NO. 3	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60915	TEMPORARY PAVEMENT MARKING PAINT, STOP LINE, 24-INCH	200.00	L.F.	\$1.00	\$200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60941	TEMPORARY PAVEMENT MARKING TAPE, REMOVABLE, REFLECTIVE, DOUBLE LINE, 4-INCH	10,000.00	L.F.	\$1.85	\$18,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60943	TEMPORARY PAVEMENT MARKING TAPE, REMOVABLE, REFLECTIVE, LINE, 8-INCH	2,000.00	L.F.	\$1.85	\$3,700.00		0.00	\$0.00	197.00	\$364.45	197.00	\$364.45	9.9%
60945	TEMPORARY PAVEMENT MARKING TAPE, REMOVABLE, REFLECTIVE, LINE, 24-INCH	200.00	L.F.	\$5.50	\$1,100.00		31.00	\$170.50	21.00	\$115.50	52.00	\$286.00	26.0%
90200	TRAFFIC CONTROL FLEXIBLE TUBULAR MARKER POSTS	50.00	EACH	\$25.00	\$1,250.00		30.00	\$750.00	0.00	\$0.00	30.00	\$750.00	60.0%
90201	TRAFFIC CONTROL FLEXIBLE TUBULAR MARKER BASES	50.00	EACH	\$3.00	\$150.00		30.00	\$90.00	0.00	\$0.00	30.00	\$90.00	60.0%
	SUBTOTAL				\$772,461.92			\$4,381.75		\$23,680.59		\$28,062.34	3.6%
SIGNAL	ACCOUNT NO. 11099-402-176	_											
50225	UTILITY TRENCH PATCH TYPE III	1,000.00	T.F.	\$25.00	\$25,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60222	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 80) CONDUIT	3,800.00	L.F.	\$5.50	\$20,900.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60224	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 40) CONDUIT	6,000.00	L.F.	\$5.00	\$30,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60228	FURNISH & INSTALL 2 1/2 INCH PVC (SCHEDULE 40) CONDUIT	300.00	L.F.	\$5.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60234	FURNISH & INSTALL 1 1/4 INCH PVC (SCHEDULE 40) CONDUIT	30.00	L.F.	\$5.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60241	GOPHER RACEWAY FOR ELECTRICAL CONDUIT OR CABLE-IN-DUCT	500.00	L.F.	\$15.00	\$7,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60261	ELECTRICAL TRENCH	300.00	L.F.	\$3.50	\$1,050.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60407	CONSTRUCT LB-8 BASE	2.00	EACH	\$800.00	\$1,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60412	CONSTRUCT TYPE "M" BASE	2.00	EACH	\$1,200.00	\$2,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60413	CONSTRUCT TYPE "P" BASE	2.00	EACH	\$1,200.00	\$2,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60425	REMOVE TRAFFIC SIGNAL OR STREETLIGHT CABINET	2.00	EACH	\$500.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60702	CONSTRUCT ELECTRICAL HANDHOLE TYPE 1	30.00	EACH	\$650.00	\$19,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60704	CONSTRUCT ELECTRICAL HANDHOLE TYPE 3	1.00	EACH	\$400.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

		NO	

		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60706	CONSTRUCT ELECTRICAL HANDHOLE TYPE 5	7.00	EACH	\$1,000.00	\$7,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90202	CONSTRUCT ELECTRICAL HANDHOLE TYPE 7	3.00	EACH	\$1,550.00	\$4,650.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90203	INSTALL AND MAINTAIN SUPPORT STRUCTURES FOR TEMPORARY	1.00	L.S.	\$12,000.00	\$12,000.00		0.00	\$0.00	1.00	\$12,000.00	1.00	\$12,000.00	100.0%
90204	CONCRETE BASE TYPE 10	4.00	EACH	\$4,500.00	\$18,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTAL				\$155,050.00	•	•	\$0.00	-	\$12,000.00	•	\$12,000.00	7.7%
LIGHTIN	NG ACCOUNT NO. 11099-402-177												
60222	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 80) CONDUIT	1,000.00	L.F.	\$5.50	\$5,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60224	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 40) CONDUIT	470.00	L.F.	\$5.00	\$2,350.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60230	FURNISH & INSTALL 2 INCH PVC (SCHEDULE 80) CONDUIT	1,300.00	L.F.	\$5.00	\$6,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60232	FURNISH & INSTALL 2 INCH PVC (SCHEDULE 40) CONDUIT	5,700.00	L.F.	\$4.80	\$27,360.00		141.00	\$676.80	0.00	\$0.00	141.00	\$676.80	2.5%
	SUBTOTAL				\$41,710.00	•	•	\$676.80	_	\$0.00	-	\$676.80	1.6%
Fiber IT	-10024-17-200												
50225	UTILITY TRENCH PATCH TYPE III	1,600.00	T.F.	\$25.00	\$40,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60222	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 80) CONDUIT	1,900.00	L.F.	\$5.50	\$10,450.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60224	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 40) CONDUIT	5,700.00	L.F.	\$5.00	\$28,500.00		2,822.00	\$14,110.00	0.00	\$0.00	2,822.00	\$14,110.00	49.5%
60241	GOPHER RACEWAY FOR ELECTRICAL CONDUIT OR CABLE-IN-DUCT	130.00	L.F.	\$15.00	\$1,950.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60261	ELECTRICAL TRENCH	5,700.00	L.F.	\$3.50	\$19,950.00		1,411.00	\$4,938.50	0.00	\$0.00	1,411.00	\$4,938.50	24.8%
60702	CONSTRUCT ELECTRICAL HANDHOLE TYPE 1	10.00	EACH	\$650.00	\$6,500.00		4.00	\$2,600.00	0.00	\$0.00	4.00	\$2,600.00	40.0%
60706	CONSTRUCT ELECTRICAL HANDHOLE TYPE 5	3.00	EACH	\$1,000.00	\$3,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90202	CONSTRUCT ELECTRICAL HANDHOLE TYPE 7	2.00	EACH	\$1,550.00	\$3,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTAL				\$113,450.00	•		\$21,648.50	-	\$0.00	•	\$21,648.50	19.1%
STORM	FROM STREET ACCOUNT NO. 11099-402-	174											
20217	CLEAR STONE	200.00	TON	\$12.00	\$2,400.00		0.00	\$0.00	20.00	\$240.00	20.00	\$240.00	10.0%
						I	1		I		I		I

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

				NO	
-м	1 1 11	/IEI	w ı	NU	

PAYME	N1 NO. 3	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)		TOTAL UNITS	EXTENSION	PERCENT COMPLETE
20501	ADJUST SEWER ACCESS STRUCTURE	4.00	EACH	\$295.00	\$1,180.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20503	ADJUST INLET	8.00	EACH	\$275.00	\$2,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
				•				•		•••		·	
21002	EROSION CONTROL INSPECTION	5.00	EACH	\$400.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21011	CONSTRUCTION ENTRANCE	2.00	EACH	\$150.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21013	STREET SWEEPING	1.00	L.S.	\$5,000.00	\$5,000.00		0.00	\$0.00	0.10	\$500.00	0.10	\$500.00	10.0%
21014	CLEAR STONE BERM	6.00	EACH	\$150.00	\$900.00		1.00	\$150.00	2.00	\$300.00	3.00	\$450.00	50.0%
21017	SILT SOCK (8 INCH) - COMPLETE	20.00	L.F.	\$4.00	\$80.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21032	INLET PROTECTION TYPE C - PROVIDE & INSTALL	32.00	EACH	\$40.00	\$1,280.00		0.00	\$0.00	13.00	\$520.00	13.00	\$520.00	40.6%
21033	INLET PROTECTION TYPE C - MAINTAIN	64.00	EACH	\$25.00	\$1,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21034	INLET PROTECTION TYPE C - REMOVE	32.00	EACH	\$20.00	\$640.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21056	INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL	55.00	EACH	\$105.00	\$5,775.00		0.00	\$0.00	28.00	\$2,940.00	28.00	\$2,940.00	50.9%
21057	INLET PROTECTION TYPE D HYBRID - MAINTAIN	110.00	EACH	\$40.00	\$4,400.00		0.00	\$0.00	6.00	\$240.00	6.00	\$240.00	5.5%
21058	INLET PROTECTION TYPE D HYBRID - REMOVE	55.00	EACH	\$40.00	\$2,200.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40366	REBUILD INLET	9.00	EACH	\$1,000.00	\$9,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50401	12 INCH TYPE I RCP STORM SEWER PIPE	155.00	L.F.	\$64.50	\$9,997.50		14.00	\$903.00	6.00	\$387.00	20.00	\$1,290.00	12.9%
50741	TYPE 'H' INLET	5.00	EACH	\$2,275.00	\$11,375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50764	CURB OUTLET STRUCTURE	1.00	EACH	\$3,400.00	\$3,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50768	TERRACE INLET TYPE 3	2.00	EACH	\$3,000.00	\$6,000.00		1.00	\$3,000.00	0.00	\$0.00	1.00	\$3,000.00	50.0%
	SUBTOTAL			•	\$69,727.50	l	' ,	\$4,053.00	ı	\$5,127.00	ı	\$9,180.00	13.2%
STORM	ACCOUNT NO. 11099-84-174												
10702	TRAFFIC CONTROL FOR STORM SEWER INSTALLATION	1.00	L.S.	\$6,725.00	\$6,725.00		0.00	\$0.00	0.50	\$3,362.50	0.50	\$3,362.50	50.0%
10912	MOBILIZATION FOR STORM SEWER INSTALLATION	1.00	L.S.	\$2,000.00	\$2,000.00		0.25	\$500.00	0.25	\$500.00	0.50	\$1,000.00	50.0%

PAYME	NT NO. 3	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
20312	REMOVE CATCHBASIN	1.00	EACH	\$400.00	\$400.00		1.00	\$400.00	0.00	\$0.00	1.00	\$400.00	100.0%
20313	REMOVE INLET	7.00	EACH	\$325.00	\$2,275.00		5.00	\$1,625.00	0.00	\$0.00	5.00	\$1,625.00	71.4%
50225	UTILITY TRENCH PATH TYPE III	405.00	T.F.	\$25.00	\$10,125.00		48.00	\$1,200.00	0.00	\$0.00	48.00	\$1,200.00	11.9%
50402	15 INCH TYPE I RCP STORM SEWER PIPE	254.00	L.F.	\$67.60	\$17,170.40		0.00	\$0.00	150.00	\$10,140.00	150.00	\$10,140.00	59.1%
50403	18 INCH TYPE I RCP STORM SEWER PIPE	70.00	L.F.	\$75.50	\$5,285.00		50.00	\$3,775.00	0.00	\$0.00	50.00	\$3,775.00	71.4%
50409	36 INCH TYPE I RCP STORM SEWER PIPE	7.00	L.F.	\$134.00	\$938.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50499	CONCRETE COLLAR	5.00	EACH	\$500.00	\$2,500.00		1.00	\$500.00	0.00	\$0.00	1.00	\$500.00	20.0%
50723	3'X3' STORM SAS	2.00	EACH	\$2,500.00	\$5,000.00		1.00	\$2,500.00	0.00	\$0.00	1.00	\$2,500.00	50.0%
50792	STORM SEWER TAP	1.00	EACH	\$2,500.00	\$2,500.00		0.00	\$0.00	1.00	\$2,500.00	1.00	\$2,500.00	100.0%
50801	UTILITY LINE OPENING (ULO)	2.00	EACH	\$650.00	\$1,300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90035	3'X3' STORM SAS (SPECIAL)	1.00	EACH	\$4,000.00	\$4,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTAL			•	\$60,218.40		•	\$10,500.00	•	\$16,502.50	•	\$27,002.50	44.8%
STORM	WATER QUALITY ACCOUNT NO. 11099-84-	-174-84500											
50722	6'X6' CATCHBASIN	1.00	EACH	\$15,500.00	\$15,500.00		1.00	\$15,500.00	0.00	\$0.00	1.00	\$15,500.00	100.0%
SANITA	RY ACCOUNT NO. 11099-83-173												
10704	TRAFFIC CONTROL FOR SANITARY SEWER CONSTRUCTION	1.00	L.S.	\$6,725.00	\$6,725.00		0.00	\$0.00	0.50	\$3,362.50	0.50	\$3,362.50	50.0%
10914	MOBILIZATION FOR SANITARY SEWER CONSTRUCTION	1.00	L.S.	\$13,000.00	\$13,000.00		0.00	\$0.00	0.50	\$6,500.00	0.50	\$6,500.00	50.0%
20311	REMOVE SEWER ACCESS STRUCTURE	19.00	EACH	\$500.00	\$9,500.00		4.00	\$2,000.00	0.00	\$0.00	4.00	\$2,000.00	21.1%
20314	REMOVE PIPE (SANITARY) UNDISTRIBUTED	75.00	L.F.	\$25.00	\$1,875.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20315	REMOVE PIPE ASBESTOS	258.00	L.F.	\$83.00	\$21,414.00		0.00	\$0.00	114.00	\$9,462.00	114.00	\$9,462.00	44.2%
20335	ABANDON SEWER WITH SLURRY	114.24	C.Y.	\$250.00	\$28,560.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20336	PLUG PIPE- SANITARY(UNDISTRIBUTED)	10.00	EACH	\$300.00	\$3,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

SPEEDWAY SAND & GRAVEL, INC. COTTAGE GROVE ROAD RESURFACING ASSESSMENT DISTRICT - 2016 **CONTRACT NO. 7625**

	ACT NO. 7625 NT NO. 3	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
20401	CLEARING	20.00	I.D.	\$25.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20406	GRUBBING	20.00	I.D.	\$25.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20501	ADJUST SEWER ACCESS STRUCTURE	3.00	EACH	\$295.00	\$885.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50212	SELECT FILL FOR SANITARY SEWER MAIN	4,774.00	T.F.	\$0.10	\$477.40		0.00	\$0.00	1,682.00	\$168.20	1,682.00	\$168.20	35.2%
50225	UTILITY TRENCH PATCH TYPE III	4,183.00	T.F.	\$25.00	\$104,575.00		0.00	\$0.00	500.00	\$12,500.00	500.00	\$12,500.00	12.0%
50301	8" PVC SANITARY SEWER PIPE SDR- 35/ SDR-26	252.00	L.F.	\$125.00	\$31,500.00		118.00	\$14,750.00	0.00	\$0.00	118.00	\$14,750.00	46.8%
50302	10" PVC SANITARY SEWER PIPE SDR- 35/ SDR-26	986.00	L.F.	\$77.50	\$76,415.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50303	12" PVC SANITARY SEWER PIPE SDR- 26	1,131.00	L.F.	\$90.30	\$102,129.30		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50304	15" PVC SANITARY SEWER PIPE SDR- 26	73.00	L.F.	\$148.00	\$10,804.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50306	21" PVC SANITARY SANITARY SEWER PIPE ASTM F679, PS115	1,718.00	L.F.	\$117.00	\$201,006.00		30.00	\$3,510.00	1,650.00	\$193,050.00	1,680.00	\$196,560.00	97.8%
50321	8 INCH PVC PRESSURE SANITARY SEWER PIPE	96.00	L.F.	\$130.00	\$12,480.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50353	SANITARY SEWER LATERAL SDR-35	420.00	L.F.	\$31.00	\$13,020.00		9.00	\$279.00	127.00	\$3,937.00	136.00	\$4,216.00	32.4%
50354	RECONNECT SANITARY LATERAL	15.00	EACH	\$3,500.00	\$52,500.00		0.00	\$0.00	2.00	\$7,000.00	2.00	\$7,000.00	13.3%
50357	COMPRESSION COUPLING	1.00	EACH	\$250.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50361	WASTEWATER CONTROL	1.00	L.S.	\$5,000.00	\$5,000.00		0.00	\$0.00	0.50	\$2,500.00	0.50	\$2,500.00	50.0%
50390	SEWER ELECTRONIC MARKERS	33.00	EACH	\$30.00	\$990.00		0.00	\$0.00	1.00	\$30.00	1.00	\$30.00	3.0%
50502	DEWATERING TYPE II	1.00	L.S.	\$1,000.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50701	FOUR FOOT DIAMETER SAS	19.00	EACH	\$4,060.00	\$77,140.00		3.00	\$12,180.00	1.00	\$4,060.00	4.00	\$16,240.00	21.1%
50702	FIVE FOOT DIAMETER SAS	8.00	EACH	\$5,820.00	\$46,560.00		1.00	\$5,820.00	7.00	\$40,740.00	8.00	\$46,560.00	100.0%
50771	INTERNAL CHIMNEY SEAL	4.00	EACH	\$400.00	\$1,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50780	CLEANOUT	1.00	EACH	\$330.00	\$330.00		0.00	\$0.00	1.00	\$330.00	1.00	\$330.00	100.0%
50781	8 INCH OUTSIDE DROP	10.83	V.F.	\$250.00	\$2,707.50		5.50	\$1,375.00	0.00	\$0.00	5.50	\$1,375.00	50.8%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

ر د	V	м	ᇚ	JT	N	\sim	2

PATME	NI NO. 3	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50791	SANITARY SEWER TAP	15.00	EACH	\$1,000.00	\$15,000.00		3.00	\$3,000.00	1.00	\$1,000.00	4.00	\$4,000.00	26.7%
50797	EXTERNAL SEWER ACCESS STRUCTURE JOUNT SEAL	14.00	EACH	\$425.00	\$5,950.00		1.00	\$425.00	7.00	\$2,975.00	8.00	\$3,400.00	57.1%
50801	UTILITY LINE OPENING (ULO) UNDISTRIBUTED	3.00	EACH	\$650.00	\$1,950.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90030	STORM CROSSING (TUNNELING)	4.00	EACH	\$7,500.00	\$30,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90031	SLURRY BACKFILL	30.00	T.F	\$70.00	\$2,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90032	EXCAVATION AND HAULING OF CONTAMINATED SOIL	84.00	TON	\$20.00	\$1,680.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90033	LATERAL TELEVISING	2.00	EACH	\$725.00	\$1,450.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90034	PRESSURE SANITARY SEWER LATERAL	98.00	L.F.	\$124.00	\$12,152.00		33.00	\$4,092.00	0.00	\$0.00	33.00	\$4,092.00	33.7%
	SUBTOTAL			•	\$896,725.20		'	\$47,431.00		\$287,614.70	•	\$335,045.70	37.4%
WATER	ACCOUNT NO. 11099-86-179												
10703	TRAFFIC CONTROL FOR WATER MAIN INSTALLATION	1.00	L.S.	\$6,725.00	\$6,725.00		0.00	\$0.00	0.50	\$3,362.50	0.50	\$3,362.50	50.0%
10913	MOBILIZATION FOR WATER MAIN INSTALLATION	1.00	L.S.	\$25,000.00	\$25,000.00		0.00	\$0.00	0.50	\$12,500.00	0.50	\$12,500.00	50.0%
20322	REMOVE CONCRETE CURB & GUTTER	200.00	L.F.	\$3.00	\$600.00		11.00	\$33.00	0.00	\$0.00	11.00	\$33.00	5.5%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	450.00	S.F.	\$1.10	\$495.00		55.00	\$60.50	0.00	\$0.00	55.00	\$60.50	12.2%
30201	TYPE "A" CONCRETE CURB AND GUTTER	200.00	L.F.	\$19.80	\$3,960.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5" CONCRETE SIDEWALK	300.00	S.F.	\$4.46	\$1,338.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30302	7" CONCRETE SIDEWALK AND DRIVE	150.00	S.F.	\$5.25	\$787.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40411	CONCRETE PAVEMENT RECONSTRUCTION	100.00	S.Y.	\$65.00	\$6,500.00		7.84	\$509.60	66.16	\$4,300.40	74.00	\$4,810.00	74.0%
50225	UTILITY TRENCH PATCH TYPE III	6,800.00	T.F.	\$25.00	\$170,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50227	UTILITY TRENCH PATCH TYPE IV	25.00	T.F.	\$20.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50801	UTILITY LINE OPENING (ULO)	5.00	EACH	\$650.00	\$3,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70001	FURNISH AND INSTALL 4 INCH PIPE & FITTINGS	180.00	L.F.	\$115.00	\$20,700.00		3.00	\$345.00	0.00	\$0.00	3.00	\$345.00	1.7%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

0	۸	V	ΝТ	NC	١ 2

	NT NO. 3	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	320.00	L.F.	\$103.00	\$32,960.00		99.50	\$10,248.50	0.00	\$0.00	99.50	\$10,248.50	31.1%
70003	FURNISH AND INSTALL 8 INCH PIPE & FITTINGS	520.00	L.F.	\$123.00	\$63,960.00		189.00	\$23,247.00	159.50	\$19,618.50	348.50	\$42,865.50	67.0%
70004	FURNISH AND INSTALL 10 INCH PIPE & FITTINGS	25.00	L.F.	\$207.00	\$5,175.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70005	FURNISH AND INSTALL 12 INCH PIPE & FITTINGS	5,500.00	L.F.	\$101.00	\$555,500.00		1,766.00	\$178,366.00	0.00	\$0.00	1,766.00	\$178,366.00	32.1%
70030	FURNISH AND INSTALL 4-INCH WATER VALVE	4.00	EACH	\$1,443.00	\$5,772.00		1.00	\$1,443.00	0.00	\$0.00	1.00	\$1,443.00	25.0%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	12.00	EACH	\$1,766.00	\$21,192.00		4.00	\$7,064.00	0.00	\$0.00	4.00	\$7,064.00	33.3%
70032	FURNISH AND INSTALL 8-INCH WATER VALVE	7.00	EACH	\$2,242.00	\$15,694.00		4.00	\$8,968.00	1.00	\$2,242.00	5.00	\$11,210.00	71.4%
70033	FURNISH AND INSTALL 10-INCH WATER VALVE	2.00	EACH	\$3,009.00	\$6,018.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70034	FURNISH AND INSTALL 12-INCH WATER VALVE	17.00	EACH	\$3,524.00	\$59,908.00		9.00	\$31,716.00	0.00	\$0.00	9.00	\$31,716.00	52.9%
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	8.00	EACH	\$4,670.00	\$37,360.00		3.00	\$14,010.00	0.00	\$0.00	3.00	\$14,010.00	37.5%
70056	RECONNECT 1-INCH SERVICE LATERAL	16.00	EACH	\$1,430.00	\$22,880.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70057	RECONNECT 1 ½-INCH SERVICE LATERAL	7.00	EACH	\$2,340.00	\$16,380.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70058	RECONNECT 2-INCH SERVICE LATERAL	3.00	EACH	\$2,720.00	\$8,160.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	19.00	EACH	\$1,800.00	\$34,200.00		2.00	\$3,600.00	1.00	\$1,800.00	3.00	\$5,400.00	15.8%
70081	FURNISH EXCAVATION AND DITCH FOR LIVE TAP	3.00	EACH	\$1,500.00	\$4,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70082	CUT OFF EXISTING WATER MAIN	3.00	EACH	\$1,650.00	\$4,950.00		1.00	\$1,650.00	0.00	\$0.00	1.00	\$1,650.00	33.3%
70090	ABANDON WATER VALVE BOX	25.00	EACH	\$175.00	\$4,375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70101	FURNISH AND INSTALL STYROFOAM	200.00	L.F.	\$15.00	\$3,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70102	LANDSCAPE RESTORATION FOR WATER MAIN	200.00	L.F.	\$20.00	\$4,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70104	ADJUST WATER VALVE BOX	10.00	EACH	\$150.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTAL				\$1,147,339.50		•	\$281,260.60	-	\$43,823.40	•	\$325,084.00	28.3%
CONTRACT TOTALS					\$3,272,182.52		•	\$385,451.65	•	\$388,748.19		\$774,199.84	23.7%